CONSUMER MATH NOTES
HOW TO FIND SALES TAX:
Example:  A shirt costs $19.99.  There is a sales tax of 6%.  What is the sales tax?  What is the total cost of the shirt with the sales tax?

1.  Change the sales tax percent into a decimal.

                       6% = .06

2.  Multiply the cost by the decimal (sales tax).

                       $19.99

                        X  .06
                       11994

     (decimal is moved 4 places to the left)

                       1.1994

     (round to the hundredths place if necessary)

                1.1994 becomes 1.20

Sales tax is $1.20

3.  Add the sales tax (answer from #2) to the cost to get the total cost.

                     $19.99

                      +1.20
                       21.19

Total cost of the shirt with sales tax is $21.19

HOW TO FIND A DISCOUNT:
Example:  A T.V. costs $159.  It is on sale for 25% off the regular price.  What is the discount?  What is the new price of the T.V.?

1.  Change the discount percent into a decimal.

                              25% = .25

2.  Multiply the cost by the decimal (discount).

                              $159

                             X .25
                                795

                            +318x
                              3975

      (decimal is moved 2 places to the left)

                             39.75

      (round to the hundredths place if necessary)
Discount is $39.75

3.  Subtract the discount (answer from #2) from the cost to get the new price.

                             $159.00

                              - 39.75
                              119.25

The new price of the T.V. is $119.25

HOW TO FIND DISCOUNT AND SALES TAX:
Example:  A pair of jeans, regularly priced at $24.99, is on sale for 30% off.  There is a 5% sales tax.  What is the discount?  What is the sales tax?  What is the total cost of the jeans after the discount and with the sales tax?

1.  Change the discount percent into a decimal.

                         30% = .30

2.  Multiply the cost by the decimal (discount).

                        $24.99

                         X  .30
                           0000

                       +7497x
                         74970
(decimal is moved 4 places to the left)

                        7.4970

(round to the hundredths place if necessary)

                        7.50

The discount is $7.50

3.  Subtract the discount (answer from #2) from the cost to get the new price.

                         $24.99

                          -  7.50
                         $17.49  = the new price

4.  Change the sales tax percent into a decimal.

                        5% = .05

5.  Multiply the new price (answer from #3) by the decimal (sales tax).

                          $17.49

                           X  .05
                             8745

                         +0000x
                             8745

(decimal is moved 4 places to the left)

                            .8745

(round to the hundredths place if necessary)

                            .87

Sales tax is $0.87

6.  Add the sales tax (answer to #5) to the new price (answer to #3).

                          $17.49

                          +    .87
                          $18.36

The total cost after the discount and with the sales tax is $18.36

HOW TO FIND TIP:
Example:  Your meal costs $34.99.  You want to leave the waiter a 15% tip.  What is the tip?  What is the total cost of the meal with tip?

1.  Change the tip percent into a decimal.

                     15% = .15

2.  Multiply the cost by the decimal (tip).

                     $34.99

                     X   .15
                      17495

                    +3499x
                      52485

(move the decimal 4 places to the left)

                    5.2485

(round to the hundredths place if necessary)

                    5.25

Tip is $5.25

3.  Add the tip (answer to #2) to the cost of the meal.

                        $34.99

                       +   5.25
                          40.24

The total cost of the meal with tip is $40.24

HOW TO FIND TIP AND SALES TAX:
Example:  Your family goes out to dinner.  The meal costs $65.  You want to leave a 15% tip.  There is a 6% sales tax.  What is the tip amount?  What is the sales tax?  What is the total cost of the meal with tip and sales tax?

1.  Change the tip percent into a decimal.

                        15% = .15

2.  Multiply the cost of the meal by the decimal (tip).

                        $65

                      X.15

                        325

                     + 65x
                        975

(move the decimal 2 places to the left)

                       9.75

(round to the hundredths place if necessary)

The tip is $9.75

3.  Change the sales tax percent into a decimal.

                      6% = .06

4.  Multiply the cost by the decimal (sales tax).

                    $65

                 X .06
                    390

                 + 00x
                    390

(move the decimal place 2 places to the left)

                    3.90

(round to the hundredths place if necessary)

Sales tax is $3.90

5.  Add the tip (answer to #2) and the sales tax (answer to #4) to the cost of the meal.

                      $65.00    cost of the meal

9.75 tip

                        +3.90    sales tax

                      $78.65

The total cost of the meal with tip and sales tax is $78.65

HOW TO FIND INTEREST:
Example:  You borrow $12,995 form the bank to buy a new car.  The bank charges 7% interest over a period of 5 years for the amount you borrowed.  What is the interest amount you will owe at the end of 5 years?  Including the interest, what is the new cost of your car loan?    

Formula for interest:   Principal X Rate X Time   [ ($)   X  (%)  X  (length of loan)  ]
1.  Change the interest percent into a decimal.

                      7% = .07

2.  Multiply the dollar amount by the decimal (interest) by the length of time.

                         $12,995    X     .07     X    5

                                      $4548.25 (interest amount)

3.  Add the interest (answer from #2) to the original dollar amount.

                        $12,995  +  $4548.25   =   $17,543.25

The total cost of the car with interest is $17,543.25
